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COMPETITIVE LABOR MARKET -
1 :PERFFCTIY COMPETITIVE [ AP g ]
[( )}?!C ]] Market: This is e rmacker where the factor of production [aboy

traded,
When Jooking at the lebor markes there cam B several structures which includes

: 5 perfect and
imperfect labor markets which inchude FITaESany.

1. PERFECTLY COMPETITIVE LABOR MARKET
There are several feanres (E3398 v mptin 3

o) of 2 perfectly competitive labor market:
Feature | Deseription |
1. Wage Taker | Nefther el ers por emplayess have any economic power to affect
the wzpe rzaes. This is Pecause the firns will pay a standard wa ge which
IS 2010 0n in the market 2nd since there s

no trade union employees

i

2. Freedom of Entry

3. Perfect Knowled

coee

#ware of what jobs are available at what wage rates
tions of employment. Likewise employers know
Iz and bow productive is that lzbor.

s warkers of a given category are identical in terms of
Zmple: All the chefs in a restaurant are equally skilled.
=l when 2 basiness successively employees labor jts
3T Imcreases till 2 centain point however after a certain

. 2bor would add Jess to the output.

6. Perfect Competition ratss 2nd employment are determined by the
in both product 2ngd ’ mzrzction of demand 2nd supply of labor.

labor market :

)

1. Supply of Labor Curve | Individna] Worker
ition: A Supply curve shows the quani
price. For an individual wo
period such a Year. The w
take. The price of lzhor Is
hours to work by relating 1
bending supply curve for lzk

4. Homogenous Labor |

5. Law ofdiminish::xg | T¢
Returns operzte

oy thar

= izt will be supplied to the market at any given
“supplied is the number of hours worked over a time

Fiow many hours to work and how many holidays to -

T ide how many

- This is because the worker will dec
7. The individual supply of labor curve js backward
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— As wage rate increase from W1 to W2 the number of hours worked increase from H1 to H2
[SE > IE]. This is because when the wage rate increases workers initially respond to it by
working more. Maybe go from part-time to full-time workers.

— As wage increases from W2 to W3 the numbers of hours fall from H2 to H3 |SE < 1E],
because individuals now prefer more leisure over work. In order words the worker is choosing to

buy leisure time by forgoing the wages he could otherwise have earned. This is the example of
opportunity cost.

— Income and Substitution Effects

For an individual workers price of work is the cost he pays for doing work i.e. leisure he
sacrifices. Similarly the price he pays for not working is the wage he could have earned by

working. Any change in wage rate will have TWQ effects for an individual worker:
Income effect (I.E.)

Income effect is defined as change willingness
of a worker to work due to change in his real
income i.c. the wage rate.

Substitution Effect (S.E.)
Substitution effect of a wage change may be
defined as change in willingness of worker to
work due to relative change in price of work
and leisure. An increase in real wage rate
means that reward for work increases.
Example: Initially a worker used to make S10
per hour, however now the wage is S12 per
hour. Therefore leisure is more expensive
relatively, in other words work is now
relatively cheaper therefore work will
substitute work for leisure when wage rate
goes up.

Substitutions Effect = Positive

However work is an inferior good. Hence
higher the wage rate fewer the number of hours
an individual wants to work. Example: When

you have money there is no point if you can’t
spend it.

Income Effect 2> Negative

2. Supply of Labor C'urve | Market . -

Definition: The market supply. curve of 'lab"ovtl-rir‘i a perfect market can be derived by the
horizontal summation of all individuals supply of labor. '

1L

NS

Wage rate pet
hout ()
=

o N, N, .
Murbst of wodars
amployed
Note: An individual exhibits the backward-bending pattern however this is different for the
market supply. In the short-run the market supply of skilled labor might be similar to'individual
however m the long run it would be a upward sloping curve because young people might be
attracted by the high wages and older people might not quite their jobs.
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3. Supply of Labor | Firm
Inaperfectly competitive labor market there are

many firms (buyers of labor) so that a single

firms purchases only a small portion of total labor and is unable to influence the market wage

rate, Firms in perfeetly competitive

labor market are wage-takers and can employee as many

units of labor as it needs at given wage rate, Therefore the supply of labor to perfectly

competitive firm is perfectly elastic.

Units of Labor (1) Wage Rate (W) Total Factor Cost Marginal Factor Cost | Average Factor Cost
| (TFC) (MFC) (AFC)
! $5 | $5 $5 $5
2 | 85 510 55 55
3 $5 $15 $5 85

- $5 1$20 35 35
WR/MFC/AFC
W - — . MFC=AFC=§,

0" 1234535 ¢ 7 0

" MFC = Marginal Factor Cost: This is the co

st of employing an extra unit of labor.

AFC = Average Factor Cost: The cost of labor to firm per unit of labor employed. Which also

acts as the supply curve for labor for an individual firm

TFC = The total cost of given units of labor employed.

Note: The W=AFC is always true for all labor market structures.
W=MFC=AFC=S

S. .
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etitive Labor Market

2. Demand for Labor in Perfectly Comp
d from the marginal reve

D.eﬁmlmm The demand for labor is derive
derived demand.

— Marginal Revenue Product Theory
There are several assumption of the theory:
1. All factors are homogenous

2. They can be substituted for each other
3 Perfect mobility of factors as between different places and employments

4. Perfect competition in the factor and commodity market
5. Full employment of factors and resources
6. The businesses are motivated by profit maximization

7.1t is applicable in the Jong-run
9. It is based on the Law of Diminishing Returns

nue product of labor. It is a

1. Measurement of MRP

Marginal Revenue of Labor: The marginal revenue that the firms gains from employing one

more worker 15 called the marginal revenuc product of labor (MRP). The MRP is found by

multiplying two elements the marginal physical product of labor (MPP) and the marginal

revenue gained by selling one more units of output (MR).
MRP = MPP x MR

¢ last worker. Thus ift

%2 for each additional output (

0 to the firms revenuc

s are operating in perfect competition in

MRP = P x MPP).

he last worker produces 100
MR) then the workers

tput produced by th

The MPP is the extra ou
firm earns an €xtra

MPP) output znd if the
MRP = $200. This €152 worker is adding $20
According to the basic assumption of MRP theory, firm
both labor and product market therefore. MR = p=ARso|

shing returns states that

Jabor. The law of dimini
d more units of labor are

| start to decline if more an

2. MRP Curve

In the short-run at all factors are fixed except

I increase initially but wil

marginal output wi

used. ) « bk ,
" Labor Input Total Qutput MPP rice of Product
J_,/—_K,,/L//
_2,__,_,——_1,__/9’__,/—

3 25 |8
i_,/ﬁ,/j_,/_—

5 138 6 1810

unz

Ursts of Lator
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el of employment for a firm ’
f employing extra labor against the

3. Profit-Maximizing lev
The firm will employ labor by weighting up the costs 0 :
benefits. It will use the same principles of the goods market 10 decide that output.

rm will maximize profits where the marginal cost of producin
ng it. [MC = MR]
here the marginal cost of employing an extra
firm. [MC of Labor =

g an extra

In the goods market the fi
unit of good equals the marginal revenue from selli

In the labor market the firm will maximize profits w
worker equals the marginal revenue that the workers output ears for the

MR of Labor].
: [MRP = MFC]
Wage
! l/v\
|
I
1
T
Qe

(@]
Q of abor

— Before the _Eq_uih'brium: The extra worker adds more to the firm’s revenue that its cost, the
firms profits will increase. It will be worth employing that worker. ’
— At the Equilibrium: As more workers are employ iminishi
: ‘ ployed the diminishing returns of labor will
in. Eacf'l extra worl-<er of labor will produce less than the previous one. The firm will rod:c'e :Ielt
the equilibrium as it this point the profits are maximum. i '
— After Equilibrium: Beyond the equilibrium point i i
-A . point if the firm tries to employ more | i

will just decrease its profits because the cost of employing labor is higher thfm {he gge ?‘bor g

. —hence the firm will employ less labor. WS B netitan

Derivation of the firms demand for labor
No matter what the wage rate, the quantity demanded will be found from the intersection ofW =

MRP.
p W‘]F\ c MG
. . .
W = M,
¥ ) M,
o)
o !
I
] ! MRA
o ! o)
] )y !
° L eTa
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At wa e S )

inCrca_Ecsm']l;] W1, QI labor is employed. As the wage rate decrease the quantity of labor

is st l. us the MRP curve shows the quantity of labor employed at cach wage rate. But this
just what the demand curve for labor shows. Thus the MRP curve is the demand for labor

curve.

Limitations

Limitation of the MRP theory

Description

1. All units of factors
are not homogencous

This is because efficiency of labor differs from worker to worker. This
also highlights that labor is non-substitutable as a textile worker cannot
replace a coal miner.

2. Factors are not
perfectly mobile

There is no automatic movement of factor units from one industry or
place to another. This is because of geographical and occupational
mobility variables.

3. There is no perfect

Perfect competition is not possible in the real world. In real life
scenarios we encounter monopolies or monopolist competition.

competition
4. Factors are not fully | In real world there is unemployment. Therefore labor might offer their
employed services at prices lower than their marginal product.

S. Production is not the
result of one factor
alone

Since production is taking place by the use of multiple factors it is
therefore not possible to calculate the marginal productivity of each
factor unit separately.

6. Profit is not always
the motive

Businesses can have several other motives like sales maximization,
growth maximization etc. which makes this theory not valid.

7. Neglect technical
progress

When technological change occurs it requires cooperation. This
concept is missing in MRP theory.

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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TOPIC 2: MONQPSONY

Definition | Monapsaeny: This is when a firm is the only employer of a particular type of labor.
Another way to look at them is that they function like a monopoly but in the labor market.
Features of a monopsony include:

1. Major buyer -

2. Wage maker

3. Upward sloping supply curves. As they need to increase wages to attract more workers. They
must increase the wage for the last worker and all the ones before, this means MC of labor is

higher than the average cost (Average Wage)

1. Supply of Labor in monopsony

— Since the firm is the market for the factor in this case the supply of factor service to the
monopsonist is identical to its supply to the market. This the supply curve to the firm (AFC) is
positively sloping form left to right upwards.

— The firm can employ more units of factor service by offering a higher price per unit. The
MFC curve to this AFC will also be upward and will be above the AFC curve through its length.
The reason is that the wage rate has to be raised to attract extra workers. The MFC will thus be
the new higher wage paid to the new employee plus the small rise in the total wage bill for
existing employees as they would be paid the higher wagetoo. . ...

Units of Labor (L) Wage Rate (W) Total Factor Cost Marginal Factor Cost | Average Factor Costj
(TFC) (MFC) (AFC)
I $10 $10 - $10 I
2 $11 $22 $12 $11 ]
3 . $12 $36 $14 $12 |
4 $13 $52 $16 $13 ]
Marginal cost ‘l

Average cost

Wage rate

Quantity of labour

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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2.D
Dem(:::rfl‘d il'(;golabor in monopsony
or rofa i
monopsonist depends over the behavior of monopsony in product markeL

- ]fthe mono =

Demand for LaI;f()orn:;\ﬁ;;s3 Ee;f ec;/lc}fmpetition in product market and price taker then

MRP . =P x MPP

bec for a firm facing perfect competition in product marke
ause of law of diminishing return.

t will be downward sloping just

arket (i.e. either monopolistic

product m
nward because 10 TWO

C— ]fthfa monopsonist is facing imperfect competition in
ompetition, oligopoly or monopoly) his MRP curve will slope dow
reasons:

1. Law of diminishing returns

2. Falling MR with the increase in output

Note: In both case the MRP falls with the increase in units of labor employed.

MURP

MRP*D

Urwes of LaDoY

(0]

g Output under Monopsony

3. Profit Maximizin
Marginal cost

Average coslt

..........................

Wage rate
3

D = Marginal
revenue product

Q2

at
Quantity of labour

0

aximizing employment of labor would be at Q1, where MFC=MRP. The wage

The profit m
hus be W1.

found from AFC curve would t
employment would have been at
where W=MRP. What in effect

by restricting the number of

petitive labor market

he higher level W2,
ate down

Note: If this has had been a perfectly com
the higher level Q2, with the wage rate at t
the monopolist is doing therefore is forcing the wage r

workers employed.
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NS |
i further their
bine together to TUrt=" °
ot s have three main objectives,
nt for their

on of workers W

TOPIC 3: INTERVE

I S izati .
Definition: A trade union is an organiza zation
: . ; There organi )
own interest and the interest of their members. n .+ of employm
ditions and secur!ty P fluence the

P b N 1 n )
wage bargaining, improvement of working co o F labor. These uinions can i
iating Wages.

members. These unions act as a monopoly suppl o
market in TWQ ways: (1) Restricting the Labor Supply and (2) Neg
MARKET

1. INTERVENTION: PERFECTLY COMPETITIVE LABOR

1. Restricting the Labor Supply

Wage rate

Ay~ o av

. Ouantity of Latsour
If the trade union limits the amount of labor available to just L1. then the union will be able to
push the wage up to W1. This might happen where there is a closed shop (a situation where the
firm the can employee only those workers who are members of the trade union). This way the
union control how many members they want to keep and hence controlling the labor supply. The
advantage of this decisions is that that workers who have jobs are enjoying a higher wage rate
however the ones who don’t have jobs are entire unemployed or have to look for work

somewhere else.

2. Negotiating Wages .. ‘
If the employers are producing under perfect or monopolistic competition unions can raise wage

rates at the expense of employment. Firm are only earning normal profit . Thus if unions force up
the wage rate, the marginal firms will go bankrupt and leave the industry, Fewer workers will be
employed. The fall in output will lead to higher prices. This will enable the remaining firms to

pay a higher wage rate.

/‘I<
T N

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845 n
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The union ;
nion 1s jp
a doubly w
Wage r Y weak 1t}
Unliss ?}t]e, bU_t also there is 5 da[;oscm(;n. Not only will jobs be lost as a result of forcing up the
€ union can prevent fi ger that these unemployed people will undercut the union wage
. ims from employing non-unionized labor. i

Wage rat
bargam’ the P"Oductivifyaicﬂ;;l;h?m- a reduction in the level of employment only if, as part of the
and hence the D curve shifts to t;‘,;sr;g;:];eascd. This is called a productivity deal. The MRP curve

Ina com it
petitive . .
. market then the union is faced with the choice between wages and jobs. Its

aculorqs will this depend in its objectives

— Ifit wa imi itwi

produmivi:vtsd? In?a_\lmm? employment it will have to content itself with a wage of W1 unless a

Productvity bead is negotiated. At W1, Q1 workers will be employed. Above W1, fewer than Q1
emanded. Below Q1 fewer than Q1 workers will be supplied.

—1 T . . .

wagilhi union is concerned with securing a higher wage rate it may be prepared to push for a

fonr ral; above W1 and accept some redundancy. This would be beneficial if the employees
ing the company are voluntary redundancy, leaving for another job or they retire.

Evaluation of Trade Unions _
jrhe extent of the trade-off depends crucially on the elasticity of demand for labor. The more
inelastic the demand the greater the power to negotiate for the union.

1. The more inelastic the labor demand the greater the wage increase and lesser the

unemployment.
2. The more elastic the labor demand the smaller the wage increase and greater the
unemployment. This is because firm might not be able to substitute labor for capital, or it is a

smaller part of the production process or the demand for the product is inelastic.

s
2 =
= & Censtrained supply
2 .
B4
v w
w, =
wo
oo Average wage
Dy
0 0
L
Quantity of labour Quantity ol labour
Restricting Labor Supply Negotiating Wage
Insider-Outsider Phenomenon
tect their position against new comers because

Definition: This is where existing workers can pro
they have inside mformation about how the firm operates.

o
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AT A - C "':{5
1{0 l

JJer. Example:

: onopoly s€ AAmpIS
bargai ing strength of each sndc,’ y
o nd employment compare
Y ber of individual

2. INTERVENTION: MONOPOSONIY e
Definition: This occurs when a monopoly jlcpcnd
Monopsonist vs. a Union. The outcome h.crc e are
Economic theory suggests that a trade union Wi ~ogligleg W
to a factor market where a monopsony employers neg

: nion
. with trade u
employees. Monopsonist market
Monopsonist and many individual employces.

f labor ft )
son the bﬂrg‘

ages
asc both Wi
H i[h a Iﬂrgc num

Marginal cost

|
[
|
!
|
' ' .. Average cost
N
|
|
[

Wage rale
3

D = Marginal |
revenue product |

0 (o]} Q2
Quantity of labour

MAP,

— “Ouardy of ebour

— The diagram above shows the ent

ry of a trade union to the industry. Assume that the trade
union forces the wage rate to W2. T

his produces a kinked supply curve. The monopsonist cannot

he marginal cost of labor s (he same as the union negotigted
ulting in a jump in the marginal

l.:The nun:1ber of
members

ion large number of workforce won’t

be availﬁable and would be more costly to the fi

2. Demand curve for A rise in wage rate would have far less

rm due to lack of output.
labor relatively inelastic

impact on the employment in the

3. Profitability of the
employer

4. Labor cost as a If labor cost is a smal] the unions will have more power since any increase in
percentage of total cost the wage won’t affect th

¢ total cost of the firm b a large pro ortion. ‘ Lecture 3
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TOPIC 4: INTERVENTION : GOVERNEMNT cordine 1o which
[ecvms I Definition | Minimum Wage: This is a policy adopted by the government ac f

islati inimum wage
employers are not permitted to pay a wage below a level set by the legislation. Mi
performs three functions.

(1) Protects workers against exploitation by bad employers
(2) Improves incentives to work tacking the problem of voluntary unempl(?ymenite
(3) Alleviate poverty by raising the living standards of the poorest groups in society

. o . be
The govt. can intervene in the labor market using the minimum wage. The effects can
understood with keeping TWQ models in mind:
1. Minimum Wage in a competitive Labor Market
2. Minimum Wage in a Monopsony market

1. MINIMUM WAGE IN A COMPETITIVE LABOR MARKET \
Firm

\ Minimumn Wege
we

Supphy=MC=AC

Oenrzirad (AMRP,

‘ 2 Quaniity of labour o
i i i / 1 im a minimum
Initially the firm is operating at wage W* and employing 1*. If the government now steps in and imposcs

wage so that the firm cannot set a wage below Wmin it will reduce its labor usage to dmin since it will not be
profitable to employ labor beyond this point.

Industry

w

0

[=3 L Se

Quanlity ol labour
The effect on the market would be that, before the minimum wage the wage was W*

and quantity of labor was L*.
When the minimum wage of Wmin was imposed all firms combined demand became Dmin but the supply of labor
became Smin. This caused unemployment between (Dmin — Smin). This creates TWO effects.
1. The number between (Dmin — L*

) represents workers who previously had jobs but are now fired.
2. The number between (L* - Smin) represents workers who now want to work because of the higher incentives but
don’t have jobs.

Note: If the minimum wage is set below the equilibrium it will not be effective and will NOT caunse
unemployment.

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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5( LKET
MINIMUM WAGE INA MONOI’S()NY MARK
2 .
Gupply AC,)
Ml!‘,l”‘i,‘: Waf"p
W
Wyl-oreemer fror s d ‘
/ [
|
|
0 L, L, Quantity of tabour

.. . , . a
In the absence of a minimum wage the firm sets its wage at Wo and employs Lo When

minimum wage is introduced at level Wmin means that the firm now e
where the wage is equal to the marginal revenue product (MRP). This takes the market back 10

being competitive. This will not only increase employment but also the wages and reduces
market power. However the govt. needs to be careful if the wage is set above the market

competitive equilibrium level this will again lead to unemployment.

Evaluation of the essay

hires labor up to the point

HAPTERS

(1) Imperfect knowledge: Workers do not know what jobs are available

(2) Immobility: Workers cannot move from one job t7 another due t0 geographical or
occupational immobility.

(3) Employers may not be profit maximizers. They may pay more¢ than they need t
may not be rational economic maximizers they might stay with the company out of loyalty.

(4) There may be monopoly buyers (Monopsony) or sellers (unions)

(5) Exploitation: This occurs when employees are paid less than their value. This happens when
the employer is in a strong bargaining position. SRHACE &

(6) MRP theory is difficult to apply to the service sector there productivity is difficult to

measure.
(7) In public sector the government sets Wages and not the market forces.

o, employers

| Lecture 4
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i"lliu;;c 5: WAGE DIFFERENTIALS
efinition: These are reasons why differences in wage exist among different occupations, within

the s i

dif ame occupation, between males and females etc. The following the reasons for wage
ifferentials:

- Skilled vs unskilled workers

X Mz.xle and Female workers

. Private and Public sector

. Industrial sector

. Ea.mmgs of people with special talents or celebrity status

. Price of the commodities which labor produces

. Market Imperfections

N AW s WN —

1. Skilled vs unskilled workers

Skilled workers usually earn more than unskilled because the demand of skilled in high whereas
the supply is relatively lower in comparison. Example: Unskilled workers like waiter’s vs skilled
workers like doctors. As for working as a waiter there is no special skill required whereas 2
doctor needs a university degree and years to experience t0 acquire his license. Hence the
demand of skilled is inclastic where as demand for unskilled in elastic. The following can be

shown with the diagram:

<
IR

2=
o |
I 2. Ay
o= \ \V(\;sl
< ' '
,
W ’
[ | ' Dll .
N ®] dd, ™M ™ R
Number of workers
_ employad

As we see from the diagram above the supply for waiters is elastic because if the demand for

waiters increases from DL1 to DL2 the percentage change in quantity supplied increase from W1
to W2 which is greater than he increases in wage from Ww1 to Ww2. This is because the job

requires few skills and it is relatively easy to increase the supply of waiters in the short term.

By contrast the supply for doctors is inelastic. If the demand for doctors increase from DL1 to
DL2 the percentage change in quantity supplied would be d1 to d2 which would be less than the
increase in wage rate which is Wd1 to Wd?2. This is because the level of qualifications and length
of training required make it difficult to increase the supply of doctors in the short run. Which is
why a large increase in wage is requires to attract people and train then as doctors.

| 03041122845 u
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D.cﬂniliml.l_'[mnsfcx;Emminu:
its present usage. A worker may
wouldn't want to work in that o

claiming unemployment benefits t

Definition ) Economic Rent: Tl
necessary to keep it in its curren
earning. Suppose a football play
player got paid £1,000
between the supply curve and th
people are prepared to work at.

ccupation, For ¢

a week. I

A2/ MICRO — [NOTE

ENT_ANDI
amount a fac
¢ carning of £150
xample, a worke

This is the
have a transfe aw

hat working for le

amount paid to a fi

1is is the
words it is the

t use. In other
er would be willing to wor
lis cconomic rent is £800 a wee

¢ wage rate. The supply curve indic

r may fe
g5 than £150 a week.

ctor production
amount over an
k for £200 a wee
k. Economic rent ist

I_L{;\A’_SJ;'JL‘.ILL'.A[LSJM,

tor of product

jon mus
k. 1f he was paid Jess,

¢l he is better off

ce he

above that which is
d above the transfe
football
he area

ates the minimum Wage

k. If the

ative size of economic rent. If

Note: The elasticity of demand and supply will determine the rel
we take a footballer, demand is quite wage inclastic (not many altern

Therefore, economic rent is rela

tively large.

atives to best players.

Whevemnenannaens o
2 / !
g Economic !
=2 rent // .
& '
g | /

| Transler D
2arnings

0 L

(a) Quantity of labowr

§) — CHAPTER S

( carn to keep it in

r

Supply is Perfectly Elastic

B | |
T |
L] N .
Q
z e 2 w ™ s 5
E3 1 RERERTTIEELIEELY . . !
. \ i
Economic . :r:rl:'sfe: : \\‘ i
rent . wnings .
\“ ) \\ D
0 =2 2
(b) Quantity of labour () Quantty of labour
All of the eamings are transfer eamings and no

are economic rent.

It has no other option hence all of the earnings

economic rent.
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